Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Sem. - V - Examination — June- 2011
Subject code: 352904

Subject Name: Production Planning
Date:24/06/2011 Time: 02:30 pm — 05:00 pm
Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1 (@) Explain the objectives of production planning. 07
(b) Discuss in detail about the advantages of good plant lay-out. 07
Q.2 (a) Define relative humidity. Discuss the effects of humidity on the 07
working of machine and material in relation to textile industry.
(b) Explain the working of Unit type humidification plant with neat 07
sketch.
OR

(b)  Explain the working of central station type humidification plant with 07
neat sketch.

Q.3 (@) Draw Lay-Out plan for the following.(any three) 07
(I) 20 High production Card. (ID 16 Ring frame.
(IIT) 2 Multi Cylinder Sizing Machine. (IV) 4 Auto Conner Winding
Machine
(b) Classify Lay-Outs and state its advantages and limitations of any 07
one.
OR
Q.3 (@) Give norms for speed, efficiency and weste % for the following (any 07
three)
(I) Auto conner Winding machine for 50s yarn.
(ID) High-speed Warping machine.
(IIT) Super speed Ring frame. For 40s
(IV) High speed Draw frame.
(b)  What are the points to be kept in mind while selecting site for 07
Textile Industry.

Q.4 (a) Calculate time required to fill up one can in Drawing frame from the 07
following data.
(1)Drawing speed — 800 YPM
(2) Weight of Draw frame sliver in one can -14kg
(3)Hank of Draw frame sliver- 0.14
(4)Efficiency-85%
(b) Calculate time required to exhaust one roving bobbin on Ring frame 07
from the following data.
Spindle speed-18000rpm  Weight of roving in one bobbin-1.3kg
TPI-23 Hank of roving-1.4  Draft-25 Efficiency-85%
OR
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Calculate no. of Spindles of Speed frame and no. of Drawing frames
required for the production of 1200kg of roving/shift. Assume
suitable data.

Calculate weight of warp and weft in a given piece of fabric in Kg.
from the following data.
Tape Length-21.2 meter Reed Count-150 metric
Piece Length-20 meter Warp Count-10 Tex =~ Weft Count-10 Tex
Picks/cm-28  Reed space-130cm  Selvedge-1cm on both side.
No. of Ends/Dent — 4 for selvedge.

- 2 for body cloth.
Calculate the production of Multi Cylinder Sizing machine in Kg.
from the following data.
Sizing speed-55 YPM  Yarn Count-60s Efficiency-50%
No. of ends in weaver’s beam-3850 Working Hours — 8

OR

Calculate no. of Sizing machine and Warping machine required for
the production of 4000kg of sized yarn/shift. Assume suitable data.
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